

Procurement Bid Office Customer Center 1st Floor, Room 002 21 W. Church Street Jacksonville, Florida 32202

October 9, 2017

ADDENDUM NUMBER: ONE (1)
TITLE: HAZARDOUS AND NON-HAZARDOUS WASTE CLEAN UP SERVICES FOR JEA
JEA ITN NUMBER <u>: 003-18</u>
RESPONSE DUE DATE: OCTOBER 17, 2017
TIME OF RECEIPT: 12:00 PM
TIME OF OPENING: 2:00 PM

THIS ADDENDUM IS FOR THE PURPOSE OF MAKING THE FOLLOWING CHANGES OR CLARIFICATIONS

CLARIFICATION: In the Solicitation Workbook and in the definitions, where JEA states "2 Operators", JEA intends this to be man "2 personnel" per truck or vacuum truck. One person shall be the operator and the second person shall be the technican or second person for safety, for all work in this solicitation.

SUPPLIER INQUIRY: Request Bidder information from last Solicitation.

JEA RESPONSE: See attached pricing sheets from previous bid.

Acknowledge receipt of this addendum on the Response Form

BID FORM FOR SOLICITATION- 006-15 **PDDENDUM - 1**

Bid Form Page 1 of 3 Submit $\underline{\text{an original and two (2) copies}}$ along with other required forms in a sealed envelope to:

Florida, and that the Company CE/OI Florida Flori	o bisis aft ni ssanisud o	re Company is legally authorized to do for the work. Handwritten Signature of Authorized C	By submitting this bid, the bidder certifies that the bidder has below is an authorized representative of the Company, that the sin active status an appropriate contractor's license. We have received addenda
00 ONE 1.38 \$			1. ONLY WASTEWATER DISPOSAL/WASTE SE STATIONS 2. SPECIAL WASTE DISPOSAL (Solid Oily Waste CLEAN-UP TOTAL LINES FOR ITEMS 1 and 2
TOTAL COST FOR ITEMS 1 & 2			tem No . ENTER YOUR BID FOR THE FOLLOWING DES
	INSURANCE R	nce with actual requirements	OUDANTITIES JOuantities indicated are exacting X]Quantities indicated reflect the approximate annual quant Contract period and are subject to fluctuation in accorda Quote the following materials F.O.B.: Jacksonville, FL
biswA bi8 to		SECTION 255.05, FLORIDA STATL [X] None required \$	SAMPLE REQUIREMENTS Samples required prior to Bid Opening Samples required prior to Bid Opening
renewal option	ieuts – 3 years -one- year Jents – 3 years -one-	TERM OF CONTRAC [] One Time Purchs [X] Annual Requirem [X] Other, Project Co	BID SECURITY REQUIREMENTS X] None required] Certified Check or Bond %
readel.con	יחלוגפנטיבוסטי	EMAIL Address: jhanle	License Number (if applicable) Syl-5-PCE and Number (if applicable)
	83520	nownestel School	Company Name: LOIYS 103 & SYLOI
		urement Dept., 21 W. Church St., Bid : bby, Suite 103, Jacksonville, FL 3220;	

REVISED - ADDENDUM 1

APPENDIX B - BID FORM- PAGE 2 OF 3

006-15- SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE/HAZARDOUS WASTE

NIL PRICING

The Technical specification details the personnel and equipment requirements for each of the bid items listed in the bid form. Each bid item has a fixed amount included in the bid form. This fixed amount is an estimated amount for equipment charges, materials, disposals fees and transportation costs to perform the work. Payment for these costs will be based on the contractors cost plus a 10% markup. The contractor is responsible for initially paying these charges and subsequently issuing an invoice to JEA for the entire cost of each job.

000 '081 \$		anne de la company de la compa		OF 3	
000 C1817				T MAO4 GIB OT A342NAAT	
				TOTAL BID ITEM 1	
00.000,04 \$				(A3l yd b9tsmite9 eA)	
				waste	
				Material costs/Hazardous	
\$				Additional equipment	2.£
009 6 \$	00 8E \$	нопиз	720	Pickup Truck services	7.1
1 005 121 \$			(000)	(oue berson)	
1	00 -65 \$	нопи	(200)	Hourly Labor Charge	1.3
000'08 \$	751'\$		(costs	
,550		SJAĐ	200,000	Oily wastewater disposal	1.2
000/28 \$: QB \$		(00==)	Including two operators	
	00 V 5 7	нопиз	(0011)	Vacuum Truck Services	1.1
				Disposal	
				OILY Wastewater	τ.
ANNUAL TOTAL T203	UNIT PRICE	UNIT OF MEASURE	DAUNNA Jaunna Ytitnaud	DESCRIPTION ANNU.	

$\frac{\textit{REVISED} - \textit{ADDENDUM 1}}{\textit{APPENDLING SERVICES FOR NON-HAZARDOUS WASTE } 3 \text{ OF 3}} \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \text{HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE } \\ 006-15- \textit{SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE } \\ 006-15- \textit{SPECIAL WASTE } \\ 006-15- \textit{SPEC$

042 48 \$				TRANSFER TO BID FORM 1 OF 3	
				TOTAL BID ITEM 2	
00:000(0+ 6				(A3l yd betemitee eA)	
00.000,04 \$				9126W	
				1	2.5
				Additional equipment such tasset and such tass	
				(including two operators)	
056, 36 \$	22.50	HONBS	200	Pickup Truck Services	2.4
00,5'H \$				(of 5 Tons each event)	
ODS H				lseoqsib	
	00 9LE \$	EACH	15	transportation landfill	2.3
	CC			lseoqeib	
5				Special waste roll-off	
966 \$. 20			(monthly rental)	
	05 63 \$	EACH	12	llo .	2.2
ł				Monthly special waste roll-	
009 21 \$	00-52\$	ноика	200	(one person)	1.2
1	(L)	3011011	6003	Hourly labor charge	-
				RIR	7
				Special Waste Disposal/	
COST		MEASURE	YTITNAUQ		
JATOT JAUNNA	UNIT PRICE	JO TINU	JAUNNA	DESCRIPTION	Mati
TOT INTERIOR			ESITMATED		

LHIS SECTION IS FOR INFORMATION PURPOSES ONLY

05 .62 \$	HOURS	Pickup Truck Services (including Two operators)							
00 9E \$	нопи	Hourly Labor Charge (one person)	3.2						
60 OB \$	нопи	Vacuum Truck services (including two operators) HOURS							
		IBED	REGU						
SA (SNOITATS D	ADDITIONAL Waste Project Services – MISCELLANEOUS ELECTRIC (NON GENERATING STATIONS) AS								
UNIT OF UNIT PRICE		DESCRIPTION	M∃TI						

ADDENDUM - 1 APPENDIX B BID FORM FOR SOLICITATION- 006-15

Bid Form Page 1 of 3
Submit <u>an original and two (2) copies</u> along with other required forms in a sealed envelope to:

JEA Procurement Dept., 21 W. Church St., Bid Section, Tower Lobby, Suite 103, Jacksonville, FL 32202-3139.

	Tower Lobby, Suite 103, Jacksonville, FL 32202-3	139.
ompany Name : Marine Ind	ustrial Services, Inc.	
ompany's Address709 Talleyra	and Ave., Suite 3	<u> </u>
ense Number (if applicable)		
	350-9656 EMAIL Address: mistjs@be	Isouth net
ID SECURITY REQUIREMENTS None required Certified Check or Bond 8		s – 3 years -one- year renewal option letion
MPLE REQUIREMENTS None required Samples required prior to Bid Opening	SECTION 255.05, FLORIDA STATUTE [X] None required [] Bond required \$	S CONTRACT BOND % of Bid Award
] Samples may be required subsequent to	Bid Opening	
UANTITIES]Quantities indicated are exacting QQuantities indicated reflect the approxima Contract period and are subject to fluctu	ate annual quantities to be purchased throughout ation in accordance with actual requirements	INSURANCE REQUIREMENTS [] None required [X]Insurance required
uote the following materials F.O.B.: Jack		
m No . ENTER YOUR BID FOR THE FO	DLLOWING DESCRIBED ARTICLES OR SERVICES	ANNUAL TOTAL COST FOR ITEMS 1 & 2
SPECIAL WASTE HANDLING HAZARDOUS WASTE	SERVICES FOR NON-HAZARDOUS WASTE/	160 100
ONLY WASTEWATER DISPOS STATIONS	SAL/WASTE SERVICES/ELECTRIC GENERATING	\$
2. SPECIAL WASTE DISPOSAL (CLEAN-UP	Solid Oily Waste) AND INCIDENT RESPONSE	\$95,100
TOTAL LINES FOR ITEM	IS 1 and 2	264,200 \$
y submitting this bid, the bidder certifies tha	Bidder's Certification at the bidder has read and reviewed all of the documents p	ertaining to this solicitation, that the person signing
elow is an authorized representative of the aintains in active status an appropriate cor		
We have received addenda	Handwritten, Signature of Authorized Office Thomas J., Swee	er of Firm or Agent Date Date

REVISED - ADDENDUM 1

APPENDIX B - BID FORM- PAGE 2 OF 3

006-15- SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE/HAZARDOUS WASTE

UNIT PRICING
The Technical specification details the personnel and equipment requirements for each of the bid items listed in the bid form. Each bid item has a fixed amount included in the bid form. This fixed amount is an estimated amount for equipment charges, materials, disposals fees and transportation costs to perform the work. Payment for these costs will be based on the contractors cost plus a 10% markup. The contractor is responsible for initially paying these charges and subsequently issuing an invoice to JEA for the entire cost of each job.

ITEM	DESCRIPTION	ESITMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	ANNUAL TOTAL COST
1.	OILY Wastewater Disposal				
1.1	Vacuum Truck Services Including two operators	(1100)	HOURS	s 66.00	\$ 72,600.00
1.2	Oily wastewater disposal costs	200,000	GALS	\$ 0.145	\$ 29,000.00
1.3	Hourly Labor Charge (one person)	(500)	HOURS	\$ 29.00	\$ 14,500.00
1.4	Pickup Truck services	250	HOURS	\$ 52.00	\$ 13,000.00
1.5	Additional equipment Material costs/Hazardous waste (As estimated by JEA)				\$ 40,000.00
	TOTAL BID ITEM 1 TRANSFER TO BID FORM 1 OF 3				\$_169,100.00

REVISED – ADDENDUM 1 APPENDIX B – BID FORM- PAGE 3 OF 3 006-15- SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE /HAZARDOUS WASTE

ITEM	DESCRIPTION	ESITMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	ANNUAL TOTAL COST
2	Special Waste Disposal/ EIR				
2.1	Hourly labor charge (one person)	500	HOURS	\$ 29.00	\$ 14,500.00
2.2	Monthly special waste roll- off (monthly rental)	12	EACH	\$ 250.00	3,000.00
2.3	Special waste roll-off disposal transportation landfill disposal (of 5 Tons each event)	12	EACH	\$ 550.00	6,600.00
2.4	Pickup Truck Services (including two operators)	500	HOURS	\$ 62.00	\$ 31,000.00
2.5	Additional equipment Material costs/Hazardous Waste (As estimated by JEA)				\$ 40,000.00
	TOTAL BID ITEM 2 TRANSFER TO BID FORM 1 OF 3				95,100.00 \$

THIS SECTION IS FOR INFORMATION PURPOSES ONLY

ITEM	DESCRIPTION UM			UNIT PRICE
	TIONAL Waste Project Services – MISCELLANEOUS ELEC JIRED	TRIC (NON GENERAT	ING ST	TATIONS) AS
3.1	Vacuum Truck services (including two operators)	HOURS	\$	66.00
3.2	Hourly Labor Charge (one person)	HOURS	\$	29.00
3.3	Pickup Truck Services (including Two operators)	HOURS	\$	62.00

ADDENDUM - 1 APPENDIX B BID FORM FOR SOLICITATION- 006-15

Bid Form Page 1 of 3
Submit <u>an original and two (2) copies</u> along with other required forms in a sealed envelope to:

JEA Procurement Dept., 21 W. Church St., Bid Section, Tower Lobby, Suite 103, Jacksonville, FL 32202-3139.

	3	
Company Name : Moran Environmental F	Recovery, LLC	
Company's Address251 Levy Road, Atla	antic Beach, FL 32233	
License Number (if applicable)		
Phone Number 800-359-3740 FAX No: 904-2	241-4732 EMAIL Address: DBillings1	.ey@moranenvironmental.com
BID SECURITY REQUIREMENTS [X] None required [] Certified Check or Bond	TERM OF CONTRAC [] One Time Purcha [X] Annual Requirem [] Other, Project Co	 ase nents – 3 years -one- year renewal option
SAMPLE REQUIREMENTS [X] None required [] Samples required prior to Bid Opening [] Samples may be required subsequent to Bid O QUANTITIES	SECTION 255.05, FLORIDA STATU [X] None required [] Bond required \$	UTES CONTRACT BOND % of Bid Award INSURANCE REQUIREMENTS
[]Quantities indicated are exacting [X]Quantities indicated reflect the approximate and Contract period and are subject to fluctuation in the contract period and are subject to fluctuation in the contract period and are subject to fluctuation.	n accordance with actual requirements	None required X Insurance required
Quote the following materials F.O.B.: Jacksonvil Item No . ENTER YOUR BID FOR THE FOLLOW		ANNUAL TOTAL COST FOR ITEMS 1 & 2
SPECIAL WASTE HANDLING SERVI HAZARDOUS WASTE	ICES FOR NON-HAZARDOUS WASTE/	
ONLY WASTEWATER DISPOSAL/W STATIONS	ASTE SERVICES/ELECTRIC GENERATING	\$ <u>197,287.</u> 50
2. SPECIAL WASTE DISPOSAL (Solid C CLEAN-UP	Dily Waste) AND INCIDENT RESPONSE	\$70,895.00
TOTAL LINES FOR ITEMS 1 a	and 2	\$_268,182.50
	any, that the Company is legally authorized to do	ts pertaining to this solicitation, that the person signing b business in the State of Florida, and that the Company
We have received addenda through	Handwritten Signature of Authorized C	·

Printed Name and Title

REVISED – ADDENDUM 1

APPENDIX B - BID FORM- PAGE 2 OF 3

006-15- SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE/HAZARDOUS WASTE

UNIT PRICING

The Technical specification details the personnel and equipment requirements for each of the bid items listed in the bid form. Each bid item has a fixed amount included in the bid form. This fixed amount is an estimated amount for equipment charges, materials, disposals fees and transportation costs to perform the work. Payment for these costs will be based on the contractors cost plus a 10% markup. The contractor is responsible for initially paying these charges and subsequently issuing an invoice to JEA for the entire cost of each job.

ITEM	DESCRIPTION	ESITMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	ANNUAL TOTAL COST
1.	OILY Wastewater				
	Disposal				
1.1	Vacuum Truck Services	(1100)	HOURS		
	Including two operators	(1100)	поокз	\$ 107.50	\$ 118,250.00
1.2	Oily wastewater disposal	200,000	GALS		
	costs	200,000	GALS	\$ 0.10	\$ 20,000.00
1.3	Hourly Labor Charge	(500)	HOURS		
	(one person)	(500)	поокз	\$ 32.00	\$ 16,000.00
1.4	Pickup Truck services	250	HOURS	\$ 12.15	\$ 3,037.50
1.5	Additional equipment				
	Material costs/Hazardous				
	waste				
	(As estimated by JEA)				\$ 40,000.00
	TOTAL BID ITEM 1				
	TRANSFER TO BID FORM 1				
	OF 3				\$ 197,287.50

REVISED – ADDENDUM 1 APPENDIX B – BID FORM- PAGE 3 OF 3 006-15- SPECIAL WASTE HANDLING SERVICES FOR NON-HAZARDOUS WASTE /HAZARDOUS WASTE

ITEM	DESCRIPTION	ESITMATED ANNUAL QUANTITY	UNIT OF MEASURE	UNIT PRICE	ANNUAL TOTAL COST
2	Special Waste Disposal/ EIR				
2.1	Hourly labor charge (one person)	500	HOURS	\$ 32.00	\$ 16,000.00
2.2	Monthly special waste roll- off (monthly rental)	12	EACH	\$ 235.00	\$ 2,820.00
2.3	Special waste roll-off disposal transportation landfill disposal (of 5 Tons each event)	12	EACH	\$ 500.00	\$ 6,000.00
2.4	Pickup Truck Services (including two operators)	500	HOURS	\$ 12.15	\$ 6,075.00
2.5	Additional equipment Material costs/Hazardous Waste (As estimated by JEA)				\$ 40,000.00
	TOTAL BID ITEM 2 TRANSFER TO BID FORM 1 OF 3				\$ 70,895.00

THIS SECTION IS FOR INFORMATION PURPOSES ONLY

ITEM	DESCRIPTION	UNIT OF MEASURE	UNIT PRICE
ADDITIONAL Waste Project Services – MISCELLANEOUS ELECTRIC (NON GENERATING STATIONS) AS			
REQUIRED			
3.1	Vacuum Truck services (including two operators)	HOURS	\$ 107.50
3.2	Hourly Labor Charge (one person)	HOURS	\$ 32.00
3.3	Pickup Truck Services (including Two operators)	HOURS	\$ ^{76.15}